
Part - III

GEOGRAPHY
Maximum:60 Scores

(MaP AccomPanied)

Time : 2 Hours

Cool-off time : 20 Minutes

General Instructions o Candidates :

oThereisa.Cool.offtime,of20minutesinadditiontothewritingtime.

o Use the 'Cool-off time' to get familiar rvith questions and to plan your answers'

. Read questions carefully before ansu'ering'

o Read the instructions carefullY'

r Malayalam version of the questions is also provided'

oit ascdanlaudaryg ootcotsnfl dcQtnfiBud :

genecoilolaoS"'
.cD16q1.Em'loccporoflcriollooo20alcnl8'€'16ac"''o"ooso'g6rBco)lol6olo'

o.6,}.6ac.,o-OoSo,c,-rcra5on<;d.,:o1o-rcologscO}ogoroloonriGr)cru}ito6rDo

oal QcrDlo gt'-r ccolcol@ol&'

gG.I6)(o6R04oCIg}(6.)}m6flcriaynr-c,-rco5ono6q9er'lca16Qloo]cc9fl6o6frlo.

cril6aguoon<.6 aSvprmlo @raDcoJ36q" 
o:coll@o5lDo'

cdcBJoBoA aaolcgorofl eJlo cn#con51erte'
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Answer the following questions from I to 39 up to a maximum score of 60'

Each question from I to 5 carries I score'

1. Identiff the pull factor of migration :

(6xl=5)

2. Which among the following is a primary activity ?

(A) Hunting G) Trade

(C) Transport (D) Tourism

3. Which of the following streams of internal migration where male migrants are

dominated in India ?

(A) Rural - Rural

(C) Urban - Rural

4. A health indicator used to measure Human Development in India

(A) Rich resource base (B) Life free from illness

(C) Education (D) EmPloYment

5. Name the port located pn the River Hugli'

(A) Visakhapatnam Port G) Chennai Port

(C) Mumbai Port (D) Kolkata Port

(A) Water shortage

(C) Educationalfacilities

(B) UnemploYment

(D) Epidemics

(B) Rural - Urban

(D) Urban - Urban
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1 o1<orc8 39 olooaolgg co-lcaSonod€o- gonDoooelrolla,. o-roaco.rujl erre165i3e,

' 60 crpc6 or9ollo1ool".

I ayorc8 6 oroooo3gg co-rco5onodao-l cqc6 oJro.ro. (6 x I = 6)

I' a]s1eco,B0ror10a orga6"'u6 .€.rs6caoorm-oilo1gcilco.r30 
:

(A) eer oo6are5o (B) o<ocdlejlgcco.r-a

(c) oro5cre5cm; mloe,o5onc6 (D) cruco66o1& cocoarnod

2' o)co9 oxrnlolaoScmolo.io8 osJoc6rD-oo3 co-rcLcale m-lccn:o,roflo 1.,-tolt6olorcno

(A) cnccocgi (B) orcerrrla5o

(C) o(Dcur(Do (D) ollcmco ou6reuc(0o

3. ,rloros cnoEa,l0lglgE "pcror50roeL ergoolola a3s1co.rg oroilogflog, or,o]osj
o3s1 ccor geoc 6 a;rrrn$ crrl ogao3cmo.i ?

(A) racao - racao (B) (ocao- o),,@o

(c) ocDoo - (@coco (D) oxD@o _ fi)u)(0o

4' pclol5oroE acmojla oJlomlcno crlldEporleenoE po-rcoorcol€o3cm 6J<oJ c,rococ,,J
CIUIoJ&o

(A) mJmroDacao,) oJleo:csloroo (B) coccnoJla3aro.r acaorslo1lcoro

(C) o.r1o5cre5cruo (D) o<orcdlog

5. .olpl mrrlorloE molotl oorglcm roJoaloro

(A) oilcoco,",gdrro rolooJoro (B) ooroocm oloalaro

(c) oJooo6'Dr {o'rJoaJaro (D) ela,cogaoonn roJoa}oio
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6. The target area planning suitable for Rajasthan Desert :

(A) Hill Area Development Programme

(B) Command Area Development Programme

(C) Drought Prone Area Development Programme

(D) Tribal Area Development Programme

Each question from 7 to 14 carries 2 scores. (8 x 2 = 16)

7. Define Human GeograPhY. '

8. What is Population PYramid ?

g. What do you mean by Public Sector Industries ? Give one example.

10. Distinguish between quaternary and quinary economic activities.

11. What are Ports of Call ? Give one example.

12. List out any two factors affecting the location of rural settlements.

13. Defrne the following :

(a) Conurbation

(b) Megalopolis

14. Write any two problems of Indian Agriculture.
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6. d]olos mo6a,1oJl53ggoLor1o8 ocemrocod (DocTlioCO)OrOld

(oJ C G 6UO'l &COD](6)5IDo :

(A) aelcaoc<o (oJeoco oJlamlcn 
",leD<oJl

(B) ot5"ub1 toJeoro oilo,mrcn .'le!<oil

(C) oLood4c erucq-fl<o'r (olco<ro ofle,m.lcn ole'Dofl

(D) er9e1 oLcm:1 (c'JGB(rc oilamlm "lar'lcrjl

7 o3<o'roE 14 oroooo3qq GolcoJon<6ael-2 ccrycd ollto'1"'

7 . accnoila reloloocCoSo'ro)1 oo! cril 6ol 
"-l 

cno o$)eJro)le'

8. B(t.lcruoolJc .,jloo1ol".,6;cmcoe-rool-?

Gn(T)JGaocBJocao)

(8x2=16)

teLSArafnOd

g. Oojc(o)lcaolel olJCIcucaO6oRcA o{)(rno)Joec5r.|e" on6O'rooc@olono(o)0iD- ? AO3

BCoo@5IDo o$g]tole.

10. ,-r<Or36O'rc cuCcruorrflel 1,oJoldoromeiBplo rrl6lolJ0 oJlrec<lo CrucoUomfl&

(ol ol d6lo(n@Rglo roml ellgg ol J@JcmJo aelcDle'

1 1. m)CBdC/om o1]oCIJolsoBcrd "gcmcoeloo-? 
6J@] Bcoo@5rDo o$)9]<0'tJ6.

12. ccDcdlsrn olcm)cruns5dBog 0Djc0-tlcrr6orm o$oros+,1et3o

a$aogs](,ttDle.

1 3. or]ojos cnoEalcotlS]@oloao cn16oL"-floo3a

(a) o&cordc6ruosioA

(b) o0<ncercoorc$;lm.:"

14. pcrol5otloeL 6c6osilol @ocooofo ofJoo>sd'le!]o co6re"(oJco"mon<'6 "6v3o;tle'

o6rB-
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6 TLo r^-^^'

Eachquestionfrom15to25carries3scores.(11x3=33)

15. Name three components of population change'

16. Distinguish between Growth and Development'

|T..Equity,isoneofthepillarsintheideaofHumanDevelopment.Writetheothermajor
Pillars'

ls.Writeashortnoteonthecharacteristicfeaturesofplantationagriculture.

19. Write a short note on underground mining'

20.Writeanythreecharacteristicfeaturesoflnlandwatertransport.

zl.Definedensityofpopulation.Distinguishbetweenphysiologicaldensityand
agricultural densitY' 

i

22. What are Border Roads ? Write its importance'

23. Classify the Indian towns on the basis of their evolution'

24, Write any three merits of rain water harvesting'

25. Write a short note on the Petroleurn resourcqqof'India'

6
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15 o3oxri 25 oroocolgg co-lcoSerrriei-3 cqpc6 ofloto'

I 5. GlmfiUoollc ru5roilonrnororl<rf a,co6rnoco,fm a3cm-"ersa,eunrr0 "6ot f

I 6. ore64clrSo olla,m.rrnol3o rdrmla3@ cuJ(0)lcmJ6urlogel(u)le''

17. ocmoJlo oJle,m.lrn<orurlaer trrrtr>cc, roSem3ag[lafl Acmcem- cDoro[o' ag

ol5mla,ogaerlcrl gJ "Oelole.

I E. crurcgoJlg e5.*ilor3os mroJlc<roosroro,og.S81 ao] orroJ6,]o1*l-"0elorle''

19. GfDdB or(r)(noor.D orgl ao3o"-to3ollotoomo o$erDle'

20. go6rncso6 slel (,)o)coOrrOruilOofl.,6SOOmilap a3cm'mmJlc(/oo0r(u)e'sa aoel(ola'.

il. glmcuc(6366) cril6oalleo3e. c.rJc..rg:icm smfiuc(rnroaolJo 6,cttndl6 8rff)m)ctcBtDtDlo

orol etpg oJJoJc(ruoaelol6,.

22. raorotOorOrl coccur3ao6 
"61rmcafl "gooi? @orollos (cr"tctDc{n}o n6elol}a'''

23. orolomcaororloafl rondlruoocn<UrOrl(fl @ooScta mU?ooBog corco ro1o1o4eJole.

24.aeoorggo€ocor-<ororlon!a6to(U)00,1ej3oOym-cacaa,<6.6113o11O,.

25. ggoo5cofloa oorc(scgilcuo crflcosa..tototorc,3o19foo3oo-ro3a,3o1.S "Oefo]a''

(11 x3=33)
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Each question from 26 to 35 carries 4 scores' (10 x 4 = 40)

26. Explain briefly about the pull factors of migration'

27. Distinguish between the positive growth of population and negative growth of

PoPulation.

28. Explain the various approaches in Human Development'

29.ListthecharacteristicfeaturesofDairyFarming,,/

30.ExplainbrieflythecharacteristicfeaturesofNomadicHerding. ,/

. 31, Write a short note on the significance of Satellite Communic ation, ,,/

32, What do you mean by migration ? Differentiate between life time migrant aJrd migrant

by last residence'

33.Listoutthedifferencesbetweenruralandurbansettlements.

34. what are non-conventional sources of energy ? write a short note on any one of them'

35. Write a short note on Mumbai - Pune Industrial region'
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26 ogrolo8 35 oroocogqq corcoJoBoa€o-4 cngc6 o-fltor.

a3dlcooSamrrl oeL crgadosre oerso,amogoer3olgioJlcnrJla,oleer}e.

(10x4=40)

27. Gncn]aJer BcnouooJJc orgrO4corg" 1".rofle1a BcnouooJJc o964o13" <om1a;gg

or J@Jcm)6R06 "6)v3<ur3a.

28. a c moJla oJl amrcnororl o er oJl oJl <-u mt dl 
".r 

m oncr8 oil <ro r5laol eer;e,.

29 . oo corol crnc o1 am1 oefl m-roJl c<.o.,si toa,og 
": $ ao g sloole.

30. cnccscdl psorelcril<u'ro,o"floofl mJcecor m)oileuonsro,eog a,3o19iojluor5le,o1eer3a.

31. gorluloocqoocor oilcrflaorcrolloof, corcoJcmJoolor a3o12ia<ol o"rolegolg 
"gvgotge.

32. aSslccorg" oooD(o)loecene" oro6oro ocdo]cno@crol- ? dloil6) &,cel a3s1 co8eoc@cDlo

agodorcmrmrocm agdlccol$dococnlo omlerpg or5oJm)oaelola.

33. ccncdlem oiccruounelongl" ff)cn@orcou ounel@Bplo <ormleLggp tondlmroccn

orJto.r5cmr@Rod .u$oogsloro]6r.

34. olcooucoJroo godeea ccruc(u)cRlaod 
"61cmcoeJ(ro" 

? o$eroeller3o ccrnlocnaerSolgi

oJlcror5lo,ol@olo,.

35. oJoodrlJ - or3ocD orJolouc@ cooleloo) a3o1qiaol olo3ao3o1E["Oe]<ola.
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Each question from 36 to 3t carrieg 6 gcores.

36. Describe briefly about the demographic transition theory.

(3x6=lt)

37. Explain briefly about the social and economic consequences of migration.

38. Explain the classifrcation of urban centers based on their function with suitable

example.

39. Identifr the following Geo-information and locate them on the given outline map of

India. Each carries I score. (7 x I = 7)

(a) The urban agglomeration which received the higher number of in migrants.

(b) The state which is the leading producer of CofIee.

(c) A market based oil refinery. '

(d) The largest coal field.

(e) The headquarter of Northern Railway Zone.

(0 The most polluted tributary of the river Ganga.

(g) The state which is the leading produceiof Manganese.
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36 o3oxr6 3t otoocolgg odcolsxlqAd6l"5 aqPcd olltuto.

B6$Doollc,,uolotflorocnmrla.uccroo<orolaei3rf 14o jlcodlaoleola.

(3x5=18)

o,3sJlcopoorloof oca3"o1&otlo mrccn:orurleculac@ GDoxnDo "nemmogaei3olaf
oiltadla,oldole.

cm)oJm6rlg;os rooslmrocm<urofl<rf gnnSolloer .rtg5Tnollog odtfeol4 gBcooosrn

mroo'lor oil cn rJlaol66rle.

'-tlolos ar-ldeorurlggg re3oJloloemc6 ro1o14o1orwor- mnflolorSlgE @oo,Jotlos

olrrrcooroinflrarosorcgogsprorlcotooelolle. I m,ftoct0oJlroo. Q xl=1)

(a) gox0rma3dlcolg slcDm)oa{Jol}E cruo cuo}ElGDo

(b) ecglao3o3 gnflgcem6|Dld a3crriln6 crild€5i3cm ouoouooc)o

(c) &c(rucg <uroslmrocnxinolellgg "Om uo3e.rJlooem(ocs

(d) aggorlo ollero oddool arcso

(e) groroo oojlcflcor cmrcerriloa! {ur}ouocoo

(0 <rrorncmelollos ag$orlo oellmacco eol*saacnel

(g) "Sgot a}s3ornfl acoocflrru-gd.ScB1.Jl6ofm ouoouDo(no

llsY-237


